4.5 Properties of Logarithms - Cont.

REVIEW - Evaluate.
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ex: Between which two consecutive integers does each value
lie?
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REVIEW - Expand.
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REVIEW - Condense.

5
2)8Inx—3In(y+z)+&n20"

h(65)
ﬂ ( y+2) JDQBQg

b) logsa—&logﬁbq—i )935;25 o

(o)







ex: Evaluate.
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ex: Let [99}[7: l
x=log?2 y=log3 z=log7

Rewrite each expression in terms of x, y and z.
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ex: Let Jﬂg [[7 = {

x=log?2 y=log3 z=log7

Rewrite each expression in terms of x, y and z.
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ex: Let Jaﬂz'z:’ 106,_"} =l

log,3=1.585 log, 5=2.322

Approximate each expression.
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Change of Base Formula

loa x Inx

log, x = =

Jog b er Inb

ey




ex: Rewrite using common or natural logarithms.
Then evaluate on your calculator.
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ex: Evaluate.
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